PREVIOUS QUESTIONS

UNION BANK OF INDIA BANK CLERK EXAM (10 - 01- 2010)

1. In a certain code MAIN is written as '9364' and DEAR is written as '8532'. How is MEND written in that code ?
(1)9548 (2)9458
(3) 9538 (4) 9528 ']
(5) None of these . L

2. In a certain code DREAMING is written as BFSEFMHL. How is TREATISE written in that code ? ( il
(HUSFBDRHS - / |
(2) BFSUDRHS A J LT
(3) BFSUSHRD -
(4) BDQSDRHS r r
(5) None of these - |

3. The positions of how many digits in the number 5314697 will remain unchanged if tLae digits afe fearranged in
ascending order within the number ? ™ F
(I)None (2) One - ( .
(3) Two (4) Three (5) More than three . | k (t

4. Among A, B, C, D and E each having different amount of mauey, € has'more money than only E. B has more
money than D out less than A. Who among them has the highe unt of nloney?
(1) B (2)A (3)D (4) Data inadequate (5) None of these

5. Prakash walked 30 metres towards West, took a left turn an
30 metres. He then took a right turn and stopped. Towards
(1) South
(2) North

(3) East : /
(4) Data inadequate
(5) None of these 4 (

6. How many meaningful English words can beqa%with the letters RTOU using each letter only once in each word ?

alked ) metfes. He again took a left tum and walked
hich dire€tion gvas he facing when he stopped ?

(DNone (2) One i
(3) Two (4) Three ‘ A
(5) More than three -

7. If 'P' denotes *-": 'Q" denotes '+, 'R’ gjenotes X' and 'W denotes'+' then —
48Q12R10P8W4=? o K&
(1)56 (2)40 I #%
(3) 52 (4) 44 i { (¢
(5) None of these \

8. How many such pairs f‘etters are there in the word ENGULFED each of which has as many letters between them in
the word. as in the EJ;)Wh aiphabet ? (I)None (2) One
(3) Two (4) Three
(5) More than three 1\)

9. Which of the following is the mjddle digit of the second highest number among the five three digit numbers given
below ? 512 739 428 843|654
(1) 142) 3,
(3)24(4) 4
5)5 . JF

10. In a certain code language 'green grass everywhere' is written as 'dik pa sok' and 'cow eats grass' is written as 'nok ta

pa'. Haw is ‘cow’ written in that code language ?
(Nnok
(3) nok of ta
@) Data Ina guate
(5) None of these
Directions (11- 16): Study the following arrangement carefully and answer the questions given below :
DIM%R1I@6F9E©OKP2 BI7T*UQ4AWF5$8#28
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11. How many such consonants are there in the above arrangement, each of which is immediately followed by a number
and not immediately preceded by a number ?
(DNone (2) One
(3) Two (4) Three
(5) More than three

12. How many such numbers ar there in the above arrangemen each of which is immediately pn ceded by a symbol and
immed ately followed by a consonant ? (I)None (2) One
(3) Two (4) Three i

(5) More than three “ %
13. How many such vowels are thei in the above arrangement, eac of which is immediately precede by a nun{e'r but not
immediate followed by a number ? (I)None (2) One - |
(3) Two (4) Three A J 8/
(5) Four ) e( . tg
14. If all the Symbols are droppe from the above arrangemen which of the following will be U eleventh from the leftfend
) . |
(1)P 21 A y ¥
(39)2(4)B ol 2\ r

(5) None of these \ g :
15. Four of the following five are alil in a certain way based on the siﬁo&\in the above agr'ang ment and so form a
group. Whic is the one that does not belor to that group ? v A
(HDKP® (2)UQ* (R9EFM@AWIB7(B)R1% 1
16. Which of the following is tf eighth to the right of the twent etfi'from thie rightfend of tl above arrangement ?
(1)6 (2%
3)8(4) A
(5) None of these
Directions (17 - 22): In each i the questions below are given #ire Statements followed by two conclusior
numbered 1 and Il. You have to tal< the given Statements to be true ¢ hey seem to be at variance from con
monly known facts. Read all the coi clusions and* decide which of the
given conclusions logically follows fromy the.glven Statements disregarding commonly known
facts. 2
Give ans wer (1) if only Conclusion §fallows,
Give answer (2) if only ConclusioglI«fGllows.
Give answer (3) if either Conclusion | or 11 follows.
Give answer (4) if neither Cdp(lusion I nor Il follows.
Give answer (5) if both C‘onduyons I and Il follow.
17. Statements: b
Some trees are forests= ' "’
Some forests are house -
Some houses are tents
Conclusions: . JB‘
I. Somme tents are forests.‘,\\\
IEome houses are trees.
18. Statements:
All cards are boxes.
No box isSlate.
Some'slates are tiles.
Conclysions:
I. No slate is card.
I1. Song tiles are boxes.
19. Stateme
Some papers._are arrows.
All arrows are sticks.
Some sticks are boards.
Conclusions:
I. Some boards are papers.

I
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I1. No board is paper.
20. Statements:
All ropes are tiles.
Some tiles are bangles.
All bangles are nails.
Conclusions:
I. Some nails are ropes.
I1. Some nails are tiles. q

21. Statements : - ( '\

Some days are nights. i
All nights are stars. - / )
All stars are clouds. A} '
Conclusions: r‘ ' " r
I. Some clouds are days.
I1. Some stars are days. - /

22. Statements: A y
All bells are hammers. "
All hammers are dogs. . ( "_'
All dogs are packets. i | { f
Conclusions : . A
I. Some packets are hammers.
I1. Some dogs are bells.

Directions (23 - 28) : Study the following Information‘carefullyjiand ahswer the questions giyen below :

P,Q.R.S, T, V. W and Z are sitting around a circk facing the CenterdR isjSecond to the left of Z, who is third to the
left of P. T is third to the right of W who is not an immediate neighBouf* of eithsr*or Z- S is fourth to the right of
Z"Q is fourth to the right of T. [

23. In which of the following pairs is the first person sitting to the immediate | f_tké'second person ?
(LRV (2) ZV 4 ( f

(3) WQ (4) SP

(5) None of these | £ ¢
24. In which of the following combinations is we firs€person sitting in betiveen the second and the third persons ?
(DTRV (2) PST
(3) WPQ (4)QZV (5) Data inadequate ™™
25. Who is second to the right of S ? (J,‘)Z @V
3w <
(4) Data inadequate * %
(5) None of these i ( t_.-
26. What is S's position withirespect to\W ?
(1) Third to the right
(2) Third to the left ™ |

(3) Fourth to the right
E{ Fourth to the left "\\\
) Second to the right
27. Who is to the immediate lgft of T ?
(1) Spi2) Py
(3) Ru
(4) Data inadequate
(5) None of these
28. Who is'to the immediate right of 0 ?
(DP (
3z (4
(5) None of ghese
Directions (29-34) : In the following questions, the Symbols $, %, %, and # are used with the following meaning
as illustrated below:
P % Q' means 'P is not smaller than Q ".
'P # Q' means 'P is not greater than Q'.
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'P $ Q' means 'P is neither smaller than nor equal to Q".

'P % Q' means 'P is neither greater than nor equal to Q".

'P 8 means P is neilher greater than nor smaller than Q.

Now in each following questions assuming the given Statements to be true, find which of the two
conclusions | and 11 given below them is/ are definitely true ?

Give answer (1) if only Conclusion 1 is true.

Give answer (2) if only Conclusion Il is true. 1 {\
Give answer (3) if either Conclusion I or Il is true. "
Give answer (4) if neither Conclusion I nor Il is true. ¢ ( 1
Give answer (5) if both Conclusions I and Il are true. - / |
29. Statements: <\/J B
H % R,R#K, K$ B Conclusions: I. B % R " | 4
ILK$H - )
30. Statements: B
N%FF# HHU 11..
Conclusions: 1. US$F P r

- A

1. 11%N 'h' 4\

A
i.-'
31. Statements: h } .
K$R,REW, W#T
Conclusions: I. T% R
IN.K$wW
32. Statements:
KxT. T$M,M 6J
Conclusions: 1. J % K

I J%T V4
33. Statements:

D#R,R5M,M$B

4
Conclusions: .M 5D .‘ J :
I.M$D I
34. Statements: " J \
B6V,V¥%oM. M$J -
Conclusions: I.J % V
ILM#B

Y
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Directions ( 35 - 40) : In each question below is given a group of letters followed by four combinations of
digits/symbols numbered (1). (2). (3) and (4). You have to find out which of the four combinations correctiy repre-
sents the groups of letters based on the following coding System and the conditions that follow and mark the number
of that combination as your answer. If none of the combinations correeth/ represents the group of letters, 'mark (5)
i.e. 'None of these' as your answer.

Letter |A|M|P|J|E-1ALFIW|B|U(K|Y[Z[H
Diglt/
Symbol
Code |1 g'l_‘_lj 191,715 6 |%|5|%|5
VR REPRUION (T b
Pchgeies g (oo AU TR K
Lt ) Hf the first, . er is a conso-
iq o ARt and the lastlgtter is a vowel,
their cades,are to be inter-
CEmed i 5
(il) ¥f the first letter is a vowel and
the last letter is a consonant, both
are to be coded as the code for
the vowel. ;
35. UPAMYE
(1) 612953 (2) 321956
(3) 621956 (4y 621953
(5) None of these
36. JPERTB
(1) @32485  (2) @2348@"
(3) $2348@ (4) @23485
(5) None of these
37. IMPBEZ
(1) ©@9283@ ' (2) %9283%
(3) 92830  (4) ©9%230©
(5) None of these
38. JETWBH
(1)8387s@  (2) @387S@
(3) @38785  (4) 638788 -
(5) None of these
39, KHAPY1
(1) %56125% (2) ©@8125%
(3) ©3215© (4) ©51250©
(5) None of these
40. BPTRKA
(1) $284%1
(2) 1284%S
(3) 1284%1
(4) 8284%S

(5) None of these

Directions (41-50) : In each of the questions given below which one of the
five answer figures should come after the problem figures if the sequence were

continued ?
Problem Figures Answer Figures
: |
41. |FLOCK|LFPKC | FPKCL | PFDLC|FDLCP DLCPF{FDSPC|DFSCP|DFSPC|DFLCP
T SN}
FR 1 S (1) (2) (3) (4) (3)
S =[z oo o U[="1U 7z 0]z oz U= o =
42, DA Z(=%0OU Z|x= a|O00OZ UA=(U % =|k A=|& U A|Z a0|
* Ula ula =iz o|la = o x|a olo olz ole
() (2) (3) (4) (3)
4 *, olo \g|c ala & * *
= *c £ R i ) =] O[*x o[x oJC a
o ola olx alo *x|c A%AOCADCNE:Q%I
(1) - (2) (3) (4) (5)
w | XX ZR | (x| K| ||| %X || D
E () (2) 3 4) (5)
80 [-1._1e] 0980|0080 |00 e 9800 009 90900 |0008 |0800
45. o a0 @80 |e@e0 |ee Q88 |es0
(1) (@) (3) 4) (5)
T [Eo=[*0A[XCA[UCA[UDR| [ZU[*xO0A[=0U[U O X=00
46. |oc0ODjoco|l0zojoon|oc 2 gTolzpolzoolzoolomoz
*Qujluo=luo=l=zaAl=0a AOD%iUC=lacki=cAalacx
(1) (2) (3) (4) (5)
s UL 2o [[Z °@ Al N VIV e oo 4a |
47. |
T Y nlz via Yo e o ey alv die aAle v
(0 (2) (3) (4) (5)
R AE RN SE SRR EE R s S
a o * o o] o o o o
48. C’g OCE A’g .048 *’g 0*2 D*: l"‘g *’g 0*2
(1) 2) . (3 (4) (5)
2 x 2 o) A X A f-‘-l & A
0. 1t *T pls % & * ClxC |*T |x C|x B
o} o kA[AO |O 50 o] ) i O 0
) (1) (2) (3) ) (5)
oo I 0 T 0 T ] f g
h @ @) @ O
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NUMERICAL ABILITY

" Directions (51 - 75) : What
should come in place of the question
mark (?) in the following questions ?

)3~ 931
( 12 @) 12
3 1 == 4] 1“"“7
@15  Wlis

(5) None of these
52. 414+23x7+36 B

72 + (3% -22%)
13 @2
(3)5 (4) 4

- (B) None of these

J444 +37+15+11x(?) =7
(13 24
(32 @5

(5) None of these.
B4, 564 x225-232+8="7

(11242 - (2) 1422 #
(3) 1240 (4) 1268
(5) None of these
. B8. 125 x 625 + 25 = 5137
(13 (2) 8.
3)5 (4)9

(5) None of these .
62626 - 6262 + 626 -62 + 6 =7
(1) 56934 (2) 56494
(3) 54694 (4) 54664
(5) None of these
. (0.6)* x (0.36)2 x (0.216) = (0.6)?
(1) 12 (2) 14
(3) 11 (4) 13
_ (5) None of these i
. 38% of 295 + 62%.0of 445 =7 .
(1) 380 :12) 388
(3) 346 (4) 391
(5) None of these

59. 84.42 - 43.82 + 16.57 - 32.49
=?
(1) 24.68 (2) 22.48
(3) 29.58 (4) 26.68

(5) None of these

60. 37% of 248 - 27% of 310 = ‘?
(1) 8.60 (2) 7.06
(3) 9.10 (4) 8.06

(5) None of these

61.

67.

3

71.

494 + 38 x (?) =832 + 4
)8 (2) 15
3)16 _ (@) 12

(5) None of these.

27.831-31.425+18.749-(?) = 12
(1) 3.255 (2) 3.105

(3) 4.155 (4) 4.345

(5) None of these

18.5% of 320 + 7.4% of 450 P
(1) 90.5 (2)92.8 -

(3) 86.3 (4) 98.6

(5) None of these

13.013 - 22.104 + 62.903 -
0048 =7 -
(1) 44.744  (2) 42.764
(3) 4.724 (4) 44.764
(5) None of these
3 _5 .4
2—0- — — 1
2 x5 = +2 5 (?) 4
1 2
9 3=
() 27 @ 37
4 3
(33 = (4) 2;
(5) None of these
18% of 350 + 12% of 600 = ?
(1) 125 (2) 137
(3) 135 (4) 149

(5) None of these
(?)% of 432 x 5 = 540

(1) 45 (2) 25
(3) 34 (4) 30
[5),ane of these

. 18 x f1156 + 17 = (?)?
17 (2) 49
(316 (4) 36

(5) None of these
3 1 1 3

3—+2—x4=+1—="?
4 "9 L &
)7+ 24
W75 @4
o e |
(3)34 (4}85

(5) None of these

143.94 + 36.78 - 71.63 = ?
(1) 105.09 (2) 108.89
(3) 111.89:  (4).109.09
(5) None of these. .

4611 - (1PA- 440 + (167 =
(1)4183  (2) 4003

(3) 4103 (4) 4193

(5) None of these

74.

78.

76.

78.

. 4359 -320x 3 =2156+ 14 + (?)

(1) 3225 (2) 3425
(3) 3545 (4) 3595
(5) None of these

i of 2 of = of 3822 = ?

13
[1) 240 (2) 280
(3) 290 (4) 254
(5) None of these
32xatiad a3,
8 9 T 5
3 1

(1) 5 (2) 45
. e o
(3)5 5 (4) 5

(5) None of these

21 x24 -4 +72-(?) =
(1) 134 (2) 128
(3) 161 (4) 149
(5) None of these

If the total cost of four tube lights
and three bulbs is Rs. 260 and
the ratio between the cost of a
tube light and a bulb is 5 : 2 re-
spectively, what is the total cost
of one tube light and six bulbs ?

ll]"Rs. 210 (2) Rs.130
(3) Rs.180 (4) Rs.170
(5) None of these

. Three-tenth of a number is equal

to 36% of another number. If the
sum of these two numbers is 88,
then what is the value of the

smaller number ?
(1) 38 (2) 40
(3) 48 (4) 34

(5) None of these

The sum of the present ages of
Ram, Shyam and Vijay is 72
years. Also the sum of present
ages of Ram and Shyam is 42
years. What is the present age of

Vijay ? i
(1) 30 years  (2) 24 years
(3) 18 years  (4) 36 years

(5) Nope of these

. The compound interest accrued

on a sum of Rs. 7,50Q in two

years is Rs.927. What wolild be

the rafe ofintérast §.op. @l BHY

(1) 5.4%  T{2) 8%~ -

(3)6% 7% 7 (4] B.4%Y

(5) 5%!j~!-'f bu & el (Blkad
J3E 84 PIN@HSs Saltiin
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80. Scohan spends 23% of an amount
of money on an insurance policy,
33% on food, 19% on children’s

education and 16% on recreation.’

He deposits the remaining
amount of Rs.504 in bank. How
much total amount did he spend
on food and insurance policy to-
gether ?
(1) Rs.3,200 (2) Rs.3,126
(3) Rs.3,136 (4) Rs.3,048
(5) None of these

81. What least number should be
subtracted from 9889 to make it
a perfect square ?
(1) 84 (2) 88
(3) 108 (4) 74
(5) None of these

82. In how many different ways can
the letters of word ‘POWERS’ be

arranged ?
(1) 640 - (2) 720
(3) 1440 (4) 360

(5) None of these
83. Five-ninth of sixty two percent of
a number is equal to 2790. What
is the number ?
(1) 8100 (2) 7200
(3) 6300 (4) 8500
(5) None of these
84. The difference between the cir-
cumferences of two circles is 132
cms. and the radius of smaller
circle 14 cms. What is the radius
of larger circle ?
(1) 14 cms.  (2) 21 cms. |
(3) 30 cms.  :(4) 42 cms.
(5) None of these . 4L
In a test, minimum passing per-
centage for reserved and unre-
served category is 40% and 54%
respectively. A candidate. from
unreserved category secured 300
marks and failed by 24 marks.
What are the minimum passing
marks of reserved category in

&

that test ? :

(1) 280 (2) 254
(3 230 (4) 240
(5) None of these o

;. Directigns:(86, -, 88) : What
should come in place of'question mark
(?) in the following series 2 ...,

86. 23 33 46.62,,81 103 (?)
(1) 126 50430,
(3)133 (4} 128

(5) None of these;(ij in ji/

-~

87. 7 14 25 38 55 74 (?)
(1) 97 (2) 99
(3) 107 (4) 113
(5) None of these

88. 9 73 105 121 129 (?) 135
(1) 13 (2) 131.

£ 133, (4) 134

"(5) None of these

89. If a certain sum of money is dis-
tributed among 43 people, each
one gets Rs. 221 and Rs. 83 is
left. What is the total amount ?

(1) Rs.9,480
(2) Rs.9,586 >
(3) Rs,9,408
(4) Rs.8,648
(5) None of these
90. Out ~of  the fractions
Lo e R
T1°g8500 7 08 jq Which is
the third lowest fraction ?
il
T D 5a
-
: (3) 29 (4) 7
e
®) 13

81. The salary of an employee of a
-~  company increases every month
by 4%. If his salary in August was
‘Rs.6,300, what will be his ap-
proximate salary in month of
October of the same year ?
(1) Rs.6,552 (2) Rs.6,967
(3) Rs.6,814 (4) Rs.6,627
(5) Rs.6,933 :
92. What will come in place of both
the question marks (?) in the fol-

lowing equation ?
@2 _1e

108 (?) ;

(1) 18 2 16
3) 12 (4) 24
(5) None of these

93. If(9)? is subtracted froma square
of a number, the value so ob-
tained is 544. What is the num-

ber ? FOPLISY 7o
(1) 25 . (2) 26
(3) 32 “(4) 27

(5) None of these

94. The ratio of angles of a triangle is
3 :5: 7. What is the difference
between double the smallest
angle and half of the largest

angle ?
(125 (2) 36
(3) 38 30

(5) None of these

95. The ratio between the length and
the breadth of a rectangle is
4 : 3 respectively. Also its perim-
eter is 112 cms. What is the area
of a rectangle ?
(1) 748 sq. cms.
(2) 768 sq. cms.
(3) 680 sq. cms.
(4) 840 sq. cms.
(5) None of these

96. What approximate value should
come in place of the question
mark {?) in the following ques-

tions ?
PR AL P
137719 77
(1) 8 2) 10
(3)6 (4) 13
(5) 3
97. 3968 + 28 x (6)2 + 410 = ?
(1) 5800 (2) 5500
(3) 5400 (4) 5600
(5) 6100 .

98. Three men or eight boys can do
a piece of work in 17 days. -How
many days will two men and six
boys together take to finish the

. same work ?
(1) 9 days (2) 11 days
(3) 14 days (4) 12 days
(5) None of these
99. The cost price of an item is two-
- third of its selling price. What is
the gain/loss percent on that

item ?
(1) 45 (2) 50
(3) 35 - (4)54

(5) None of these

100. The ratio between the present
ages of Dheeraj and Raman is
2 : 3respectively. Four years ago,
the ratio between their ages was
5 : 8 respectively. What will be
Dheeraj's age after 7 years ?
(1) 29 years  (2) 35 years
(8) 31 years  (4) 33 years
(5) 41 years ;
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GENERAL AWARENESS

101. Which of the following is the currency of Dubai ?
(DTaka (2) Dinar
(3) Dollar (4)Dirham (5) None of these
102. Right to Education Bill has been passed by the Parliament. The bill was introduced to help which of the following
groups of society ?
(1) College going teenagers i
(2) Those who are interested in technical education “ %
(3) Female students studying Sr. Secondary level ( 1)
(4) Children upto the age of 14 years - / |
(5) All adults who could not get formal education A J 8/
103. A special Summit of which of the following organizations was held in Pittsburgh, to workout rmula to rriailrrain
stability in economic growth in all the big countries: ?
(NG-8 (2JG-15 - /
(3)G-20 (4)WTO A 4 y v
(5) NATO "
104. Which of the following schemes was launched to provide cooked foed ta;school g*\g chi d‘_ren in India so that they
are motivated to come to school regularly ? 4 | 0& ‘ .
(1) Right to Education v A
(2) Food for work scheme 1
(3) Mid Day Meal Scheme |
(4) Annapuma Scheme
(5) None of these
105. The outlay for which of the following games to be held in Delhi in 20 increased to Rs.3,472 crore ?
(I)Olympics (2) SAARC (Games) [
(3) IPL Cricket : /
(4) Para Olympic Games E Y (
(5) Common Wealth Games _
106. Whatis the amount that has been give,n in thqe¥2009-10 (in additionto usual outlay) to improve the higher
education in India ? ‘ |
(1) Rs. 500 crore j
(2) Rs, 750 crore -
(3) Rs. 1000 crore v
(4) Rs. 1,500 crore - _ L
(5) Rs.2,000 crore I »%
107. How much percentage of the total tirneideposits of the Banks is locked as Statutory Liquitlity Reserve (SLR) ?
(1) 10% (2) 15% 1
(3) 20% (4) 25%
(5) Nong of these qg'
108. Which.of the following terms.is" NOT associated with the phenomenon of Global Warming ?
(3) Ozone Depletion n\\
) CO, Emission
(3) Green House Effect
(4) EFNing effect
(5) Subprime Crisis
109. Who amgngst the followifg presented the Railway Budget 2009-10 in parliament after general elections ?
(2) Shei Pranab Mukherijee
(2) Ms§ Mamta Banerj
(3) Shriilalu Prasad. Yadav
(4) Shri Manmohén Singh
(5) None of these
110. As per the Union Budget 2009-10 the income upto which of the following limits is exempted from Income Tax for all
categories of the people ?
(1) Rs. 15,000
(2) Rs.30,000
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(3) Rs. 1,60,000
(4) Rs.2,40,000 (5)Rs.51akhs

111. As per the 2nd quarterly review of the RBI's Annual Policy the Wholesale Price Index at the end of March 2010 is
likely to stay at the level of .

(1) 5% (2) 5.5%
(3)6% (4)6.5%
(5) 7%

112. Which of the following is a method of Irrigation in India ? i
(1)Canopy “ %
(2)Grazing " 1)
(3) Contour Farming - / |
(4) Desalination A} 8/
(5) Sprinkler r‘ ">

113. Which of the following States cannot be called a Silk producing State?

(1) Tamil Nadu - /
(2) Karnataka A J y ¢
(3) Andhra Pradesh " r
(4) West Bengal L ( "_

(5) Himachal Pradesh i | &

114. Which of the following schemes was launched to promote exp@fts of agficultural protluce and their value added

products in India.?

(1) Vishesh Krishi and Gram UdyogYojaria

(2) Financial Inclusion Scheme

(3) Raslriya Krishi Vikas Yojana (4)VanUpajYojana
(5) None of these

115. Which of the following central taxes has now been withdrawn ? [
(1) Value Added Tax » /
(2) Commodity Transaction Tax R Y
(3) Gift Tax (
(4) Corporate Tax > |

I

(5) Allof theabove e'
116. As per current guidelines what is the stak _tﬁt Foreign entities' can hold (without prior permission) in the Industrial
units, manufacturing items reserved forfie small and medium sectors in India ?

(1)15% (2)20% 4 4

(3) 24% (4) 33% < 'K

(5) None of these {) 1 #%
117. The Govt. of India has decided €

buiI1_a 84 km. historic road in which of the following states, tracing the path once
taken by Emperor Akbar ? \
(2) Delhi (2) Uttar Pradesh (3)Bihar (4)Gujarat (5) Jammu & Kashmir
118, The. Yashpal Panel stbmitted Ks report to the HRD Ministry a few months back. This panel was set up to review and

suggest improvement in which of the following?
(#) Higher Education
) Examination Pattem iff CBSE schools

(3) Basic Education
(4) Pay Scales of the facylty of IIMs & 1ITs
(5)AdultEduCation
119.Which of/he following se€tors has shown clear signs of revival in recent months and has grown at the rate of
5;8%ddring April-August 2009?
() Agriculture
(2) Energy Sector
(3)Industfy”Sector
(4) Service $€ctor
(5) All of these
120. Who is the author of the book titled The Miracle of Democracy' ?
(1) Mathew Mhalke
(2) Amarétya Sen
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(3) Chetan Bhagat
(4T.S. Krlshnamurthy
(5) None of these
121. As per the Instructions given by the RBI, now all banks are required to provide which of .the followlng in all its
branches mandatorily ?
(1) Note Sorting Machines
(2) Special Counters for Senior Citizens
(3) Special Counters for Women Customers
(4) Service sector
(5) All of these r
122. Most of the Thermal power stations in India still use which of the followlng as one of their |mport )tg to
generate power ?
(DSea Water r
(2) Coal
(3) Heavy Water - /
(4) Natural Gas ¥ y v
(5) None of these -~
123. Which of the followlng Organisations is NOT associated with the flnanmaQ)ankmg(ector n India ?
(1) NABARD (2) BSE (3) ISRO (4) ECGC i
(5) SEB1
124. Under One Village one product' scheme launched in North Ea
promoted as an inaugural product of the scheme ?
(DLemon (2) Banana
(3) Apple (4) Orange (5) None of these
125. As we all know Govt. of India has established an Unique Identificatio jiority of India. The authority will launch
its pilot project in the State of ,_. [
(1) Rajasthan (2)Andhr Pradesh /

(4) Jamrnu & Kashmir r
(5)West Bengal 1 (
126. Which of the following is a book written by q( Seth ?
(1) The Other side of Midnight ‘
(2) The Blind Assassin j
-

(3) A Rainbow Last Night
(4) The Golden Gate

ates, plant ion of which of the followlng is being

(5) None of these < " L
127. As per the Mission Clean Gangaj no diseharged sewage will be
flownintotheriverby theyear_ % ‘ r
(1) 2010 (2) 2012 ‘ \
(3) 2015 (4) 2020
(5) 2022, v

abig way ? (DUSA (2)
) Brazil (4) Iran (5) Ar
129. Which of the following colintries is at the top of the list of nations having maximum guantity of Gold with them ?
(1) India (2) China
(3)Russia (4) USA (5) None of these
130. Which of the following ig India's rank in Human Development Index 2009 ?
r (1) 120 (2) 115
(3) 134 (4) 157

128. Which.of the following conat\rives is helping India in the construction of Nuclear Power stations across the country In
a
ntin

131. Now a days the Election Commission of India uses 'EVM' during the general election in the country. What is the fill
form of EVIAI?
(1) Election Validation Machine
(2) Electronic VVoting Machine
(3) Electronic Validation Management
(4) Early Voting Movement
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(5) None of these

132. Six Non member countries namely* China, Japan, India, South Korea, Australia and New Zcaland were specially
invited to attend which of the following summits held in October 2009 in Thailand?
(DNATO (2)SAARC (3) BRIC (4) G-8
(5) ASEAN

133. The Asia Pacific Wealth Report 2009 compiled by Capgemini was published recently. As per this
report which of the following countries of the Asia Pacific region is the wealthiest ? (1) Japan (2) China (3) India (4)
Australia 4
(5) None of these “ %

134. Many times we hear about GM food. What is full form of the term GM ? ( |
(1) GlobaUy Marketed - / |
(2) Genetically Modified A} .
(3) Greenwich Method r‘ . r-'
(4) Grossly Mineralled
(5) None of these - /

135. Omar Abdullah the Chief Minister of Jammu & Kashmir is from which of the following'palitical parﬁes’?
(1) Bhartiya Janata Party B

2) Samajwadi Part % (
(2) j y L \
- "-

i k

(3) Cpmmunist Party of India { f
(4) Bahujan Samaj Party
(5) None of these 1

136. Which of the following terms is NOT used in the field of Banking & Rinance
(1) Over draft (2) Base Line (3) RTGS (4) GBC
(5) Retail

137. World's top leaders were assembled in Copenhagen in December 2009ffogfa meet on Climate change. Copenhagen is
in which of the following countries ? (INUSA (2) France [

W

(3) Denmark (4) Germany (5) Italy - /
138. Which of the following cups/trophies is associated-q't{the game ofFootgall?

(DlraniCup '

(2) SubratoCup > |

(3) Agha Khan Cup ‘ f

(4) Wimbledon Cup A

(5) Rangaswami Cup
139. India has recently signed an agreement with which of the following countries of the Indian subcontinent ?
(1) Myanmar (2) Bangladesh43) P_alé'istan (4) Bhutan. (5) Nepal
140. Late Y. S. Rajasekhara Reddy who diédiin an air mishap was the Ghief Minister of .
(1) Kamataka i | ‘.r
(2) Andhra Pradesh ‘ \
(3)TamlINadu
(4) Kerala v
(5) None of these
141. A8 per the new Foreign }ﬁdlicy the annual growth of export should increase by which of the following levels
20117 (1) 10% (2) 15
(3) 12% (4) 25%
(5) None of these
142. As per jr,@wspaper reports Mahindra Satyam secured big contract from MENA countries, What is full form of
MENA/
(1) Middle East & Northy Africa
rs of Egypt and'Norwegian Association
f Ecofriendly Nation's Alliance
4 Membe;'_f Ecological & Natural Agency
(5) None of these
143. Who amongst the following ministers of the Govt. of India recently visited Bhutan ? (I)ShriS. M. Krishna
(2) Ms. Mamta Banerjee *
(3) Shri Pranab Mukherjee . (4) Shri P. Chidambaram
(5) None of these
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144. Govt. of India is planning to amend Article 243(D) of the Indian Constitution. This article deals with which of the
following areas ?
(1) Primary Education
(2) Rural Employment Guarantee Act
(3) Panchayati Raj System
(4) Reservation for Women in the Parliament
(5) None of these
145. The Winner of the Best Feature Film Award, winner film 'Kanchivaram' is a film made in (1) Hindi (2)Malyalam
(3)TamU (4) Kannada -
(5) None of these |
146. Who amongst the following was the Prime Minister of Japan immediately prior to Yukio Hatoyama who to%ven
in September 2009 ? \ ./
(DTaroAso (2)ShinzoAbe r’ "> r’
(3) Yasuo Fukuda

(4) Junichiro Koizumi - |
(5) None of these | ¥y
147. Rupesh Kumar and Sanave Thomas were the two persons who repre§inted,l[1d|a at the_
(1) World Badminton Championship — ‘
(2) Third Asian Carrom Champlonship ] 1

(3) Asian Age Group Swimming Championship
(4) World Athletics Championship 2009
(5) New Zealand Grand Prix 2009
148. The present National Health Policy was revised ip which @f the following years ?
(1)2002 (2)2003
(3)2005 (4)2007 Y
(5) None of these % ﬁs t’
149. Indian Community Weifare Fund was es hed in many €ountries with which of the following
budget for initial support ? | F
(1) Rs, 200 lakhs V4
(2) Rs. 300 lakhs -
(3) Rs. 480 lakhs
(4) Rs. 580 lakhs < .
(5) None of these !0 A
ard 200

150. Ramon Magsaysay 9 h‘aﬁ been awarded to Deep Joshi for his contribution in the field of
(1) Rural Development

(2) Literature o ‘

(8) Social Service .
(4)Msic P
Sports

. ENGLISH LANGUAGE

I

|rect|ons (151-}5)' In each question below a sentence with four words printed in bold type is given. These
are numbered as (1) (3), and (4 ). One of these four boldly printed words may be either wrongly spelt or
inappr@priate in the.context of the sentence. Find out the word which is wrongly spelt or inappropriate, if any. The
number Of that word is your answer. If all the boldly printed words are correctly speit and also appropriate in the
context of tHe sentence, mark (5) i.e. 'All Correct" as your answer.

151. In such circumstanses (1)/do not take unnecessary (2)/rlsks (3)/ with your savings.(4)/ All correct (5)
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152. RBI is unwilling (1)/ to enforce (2)/ these regulations as these will discourage (3)/ investment. (4)/ All correct (5)
153. Many Indian firms have entry (1)/ into partnership (2)/ with foreign (3)/ ones of late. (4)/ All correct (5)
154. This is a prime (1)/ example (2)/ of what the government can achieve (3)/ if it is determine. (4)/ All correct (5)
155. They managed (1)/ to accomplice (2)/ this by Coming (3)/ up with unique (4)/ schemes. All correct (5)
Directions (156 - 170) : Read the following passage carefully and answer the questions given below it. Certain
words have been printed in bold to help you locate them while answering some of the questions.

Rajendra was a landlord. He had made a lot of money by cheating and illtreating his labourers who worked in
the fields. One day, a young man named Mani came to Rajendra, asking for work. Rajendra was pleasantly
surprised. No one had ever wanted to work for him because of his reputation, and here was someone Walki g']""right
into his house ! Mani's next few words surprised him even more. Mani said, "I will work for you for freefOnlyi give
me a place to sleep, two sets of clothes and two square meals a day.” Rajendra was beside himself withgoy whegh he
heard this and was about to agree, when Mani added, "I have only one condition: | will teil you the tfuth always, but

one day in the year, | will lie." r{' ">

Rajendra, who lied happily every day of the year, agreed to this odd condition. So Mani began Workin{for
him. He was a wonderful worker —hard working and trustworthy. He was very honest and séon be ame Rajendra's
right hand man. Because of Mani's hard work, Rajendra had an excellent harvest.‘He and his wifeffManda, decided
to have a big feast to celebrate. They invited all rtheir relatives and friends, from the village and (ﬁtside as well.
Everyone was looking forward to the delicious feast being planned.\On the mornin{of the ;feast, Rajendra ciecided
he would also gtve away some gifts to his relatives, just to show offsS8 he'set off for the nattet 16hfi cart.

As soon as he was out of sight, Mani went running to Mag#la. He wept loudly and beat his ehest. Then he feil
on the iloor, sobbfng and announced, The master is dead! The cartjover tufned on theroad. Our master has beert
flattened llkc a chapatti 1" As soori as Rajendra’s wife and ffelatives heardfthis, they started wailing. Mani rushed
out. saylng he would bring back the body, while everyone started)preparing for the last rites. Mani now went
running to his master and said, "Master! Your wife is dead. A cobrd bit fier and feil to the ground, as blue as the
spring sky." Rajendra was stunned. What! His bcloved Manda, his palitngF in all his schemes, was dead! He hurried
home shouting her name. [

Manda too was weeping loudly, sitting in the courryard. When she hd’%usband run in, she stopped mid-
wail, and Rajendra too stood open moutied. Thendthey feil into each other"s arms, unable to believe their eyes.

As one, they turned to Mani.What is the r?n& of this, Mani 2 his master angrily demanded. Mani smiled.

"Remember my condition, that 1 would lies@nce iin the year ? Well. I'chose today. You see what lies can do? Now
think what happens to the people Whom'you Iie to eyery day of thé year !" Saying this, he walked out, leaving
behind a stunned and ashamed landlord. j
156. Why did Mani want to work for Rajendfa™?
(1) Rajendra offered him food, clothing and shelter.
(2) To learn from Rajendra who was a successful business man.
(3) To earn his trust so he could take over the business one
day. . . F
(4) He wanted to show Raj)indra the erroi of his.ways.
(5) Rajendra did not mi is bad habitoftellinglies.
157. Why did,Mani wor ei{ hard for Rajendra?
(1) He-took pride in his and wanted to ensure a good harvest.
(2) He was grateful to RWB%?;
) He,knew Rajendra walild share.the profit with his right hand man.

(4) Heconsideredhim§elfaspart of Rajendra’s family.

(5) He was an honest labourer.
158. What Opinion did Rajendra’s workers have of him ?
(1) Hepwas generous forjpaying them and providing for their basic needs.
(2) Helwas a cheat and he exploited them.
(3) He Was a weak man who listened only to his wife.
(4) He unfair to'his workers and paid each a different salary.
(5) Nonesef these
159. Which of th!'following is TRUE in the context of the passage ?
(1) Rajendra was ashamed only because Mani had managed to trick him.
(2) Mani had many friends who were cheated by Rajendra.
(3) Rajendra was amiser because despite being wealthy he travelled by cart
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(4) Mani was.clever and a good actor
(5) Manda was an excellent cook and had prepared a delicious feast.
160. What was Rajendra’'s immediate reaction on hearing the news of his wife's 'death’ ?
(1) He panicked because his wife was responsible for them being rieh.
(2) He ran home at once because he doubted Mani's horiesty.
(3) He was very upset and rushed home at once.
(4) He wanted to make funeral , arrangements.
(5) He went home to inform everyone that the feast was cancelled. i

161. Why did Mani lie to Manda ? “ %
(1) Out of revenge for not being invited to the feast. ( |
(2) To find out whether Rajendra’s relatives cared about him or his wealth. - / |
(3) To help her realise how much Rajendra meant to her. A J 8/
(4) To delay the start of the feast as his master had not yet arrived. r‘ "> r
(5) She was partner in all Rajendra’s Schemes

162. Why did Rajendra shout at Mani one day ? - /
(A) Mani had lied to Rajendra and his wife causing them to fight. 1 ' 4 y "
(B) The feast had to be cancelled because of Mani and Rajendra sufiered huge losses, P f"'
(C) He had embarrassed his wife and him in front of their friends and rel ( ;
(DNone i | { f

(2) Only (A) v A
(3) Only (A) and (B) 1
(4) Only (C) (5)A11(A).(B) and (C) |
163. Which of the following can be said about Manda ?
(A) She trusted Mani more than Rajendra.
(B) She had a good relationship with her husband's relatives.

(C) She was dishonest [

(DNone A l"l
(2) Only (C)

(3) Only (A) and (C)

(4) Only (B) and (C) < {(

(5) AL1(A). (B) and (C) {

164. Why did Rajendra aeeept Mani's condltlo ’?j
(1) He did not value honesty.
(2) He had no intention of letting Mani fulfill it.
(3) He was an expert at detecting vyHEan people lied.
(4) He knew how difficult it was to stop.lying.
(5) He predicted that Mani would be :in,excellent worker.
165. Why did Rajendra go oﬁ on the day, of the feast ?
(1) He wanted to share his good fortune with his relatives.
(2) He taok gifts for*highrelatives who were not as well off as he was.
(3) He-wanted fo boast about his prosperity to his relatives.
(4) To purchase grocerlgm:@s:ed for the feast from the market
) He wanted to personally invite his relatives who lived outside the village.

iDiregtions (166-168) : Choose the word or group of words which is MOST SIMILAR in meaning to the
wordsprinted in bold as used in the passage.

166. pleasantly

(1) extremely (2) delightfully (3) charming (4) friendly (5) coolly
167. wailin /

(1) Crying (2).complaining (3) shouting (4) Tears(Grumbling
168 right

(1)Suita'5ie I2) Legally (3) Accurately (4)Straight (5) Immediately
Directions (169 - 170): Choose the word or group of words which is MOST OPPOSITE in meaning to the
word printed in bold as used in the passage

168.Planned

(1) organised (2) deliberate
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(3) cancelled (4) informal
(5) automatic
170. celebrate
(Dinsult (2)reject (3) dishonour (4) moum (5) infamous '
Directions (171 - 175) : Rearrange the following six sentences (A), (B), (C), (D). (E) and (F) in the proper sequence
to form a meaningful paragraph; then answer the questions given below them.
(A) Being generous by nature, the king offered them & meal and treated them kindly.
(B) In appreciation the king ordered a stew to be prepared for the feast in honour of the farmer. i

(C) The king welcomed them too and placed before each a bowl of water saying, This is the stew of the ha &
(D) A few days later, a few people came to the court claimihg to be neighbours of the farmer." dﬂ 1)
(E) A poor farmer presented a fine hare to the king. - |
(F) Not long afterwards a large number of people appeared at the palace and introduced themselVes ds neighbursiof
the farmer. " . r
171. Which of the following should be the SECOND sentence after rearrangement ?
(DA(2)B(3)C(4)D(B)F - /
172. Which of the following should be the LAST (SIXTH) sentence after rearrangement 2 % y ¥
((133)?3 ((ZZ)CI:E ol 2\ r
1 e
(5)F 1 S (¢
173. Which of the following should be the FOURTH sentence after rgérrangement ? A
1A@B, 1
(3)C4)D |
(5)E
174. Which of the following should be the FIRST sentence after rearrangeent
(DA (2B 3
3)C4)D
(5)E £
175. Which of the following should be the THIRD senqlntafter rearrangement?
(DB J2)c" _ |
(3)D « (4)E
(5)F &, f

Directions (176 - 180): Which of tfh;jhrases (2). (2), (3) and (4) given below should replace the phrase given
in bold in the following sentence to maKe it meaningful and grammatically correct. If the sentence is correct as it is
and.no correction is required, mar* (5) as the answer.

176. Banks Charge differently rate of ]rﬁerest depending on the size of the loan.

(1) difference in rate of interesf I »%
(2) differently what rate of interest, ‘_,
(3) different rates of inttest \
(4) the different rate of interest (5)'No correction required

177. It is necessary that e any steps to reduce pollutions soon.
(1) we-should take every
(2) we have taken no ""\\\

) us to take any
(4) we take some
(5) No corgection require

178. It is teo early to say howithe impact the new tax will have op Investors.

impact

the impact

(5) No carrection required
179. Kindly ask hi§ advice regarding the various health Insurance policies presently available.
(1) him to advise that
(2) regarding his advice
(3) that he should advise
(4) about his advice (5) No correction required
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180. Unfortunately many of our towns and cities do have more good transportation Systems.
(1) have a good (2) not have good
(3) not have much good
(4) not having better
(5) No correction required
Directions (181-190): Read the sentence to find out whether there is ariy grammatical error or idiomatic error in it.
The error, if any, will be in one part of the sentence. The number , of that part is the answer. If there is no error; the
answer is (5). (Ignore errors of punctuation; if any.)

181. Rajiv has won a prize of (1)/ two million dollars which (2)/ has to be shared (3)/ with all his team membe @9/ No
error (5) {7

182. | do not understand (1)/ about how the payment (2)/ was made without (3)/ the manager's permlssmn (4)=No.e
(5)

183. The Company has (1)/ decided to seil half (2)/ of it shares (3)/ to a Chinese firm. (4)/ No error (

184. By opening so many (1) / branches in such a (2)/ short Urne, they have (3)/. used the Wrong strategy. (4)/ No rror
O

185. Diiring the interview (1) / with the General Manager (2)/ | asked her what challengek @)/ she was fgced (4)/ No
error (5)

186. We have an account (1)/ with this bank and (2)/ find the staff much (8)/ helpful and now dgeable (4)/ No error (5)

187. The scheme has been (1)/ implemented only in these (2)/ part of the«c8untfy and the'(3)/ Prime Minister will Visit it
shortly. (4)/ No error (5) - ]

188. Today we arecloser (1)/ to reaching an agreement (2)/ than we yere (8)/ a fewt months ago. (4)/ Noeroors (5)

189. We have been(1) telling them to (2)/drive carefully but (3)/thgy are naver listening. (4)/ No error (5)

190. There is all sorts (1) of regulations that have (2)/ to be met bgfore (3)/\we get a license. (4)/ No error (5)
Directtons (191-200): In the following passage there are blanks, each offjwhigh has been numbered. These numbers are
printed below the passage and against each. five words are suggested, n f which fits the blank appropriately. Find
out the appropriate word in each case.

For as long as | can remember | have thought of myself as a teach dstill do even today. But in 1965 |

decided to (1911 my hand at business. So | (192) qu ther to allow megto (193) up a printing and packaging plant. 1
(194) the project proposal and applied for a (195). 3 it was approved | went (196) the challenges of employ\ing the

rtght (197). My project was successful and | Q‘SS n attractive profit. Becommg a rieh businessman
(199) never my dream. It was just a
(200) of proving to myself and my famlly I could be a success in business. This experience also gave me a lot of
seif confldence.

191. (1) use (2)attempt (3)tiy (4)give (5)sshow

192. (1) prevailed (2) permitted (3) appealéd (4) offered (5) persuaded

193. (1) set (2)built (3) raise (4) stant (5) begin

194. ()draft (2) extended (3) prepare@ (4) thought (5) formulate

195. (2) relief (2) loan (3)posti(4)leave (5)jab

198. ()under (2) through (3)ahead (4) for (5) away

197. (1).people (2)equip nﬁS) knowledge (4) behaviour (5) role

198. (1) in.ade (2) gain (3) benefited (4) obtain (5) reap

199. (1)istayed (2) fulfilled (3 m&s{d . (4) was

200. (Wdirection (2) state (3) celtificate (4) way (5)proof

COMPUTER KNOWLEDGE

[ 4

201. The Software tools that eﬁ!able a uscr to interact with a Computer for specific purposes are known as_
(1) Hardware
(2) Ne ked Software
(3) Sharewar,
(4) Applications
(5) None of these
202. A_shares hardware, Software, and data among authorized users.
(1) network
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(2) protoeol (3)hypertink
(4) transmitter
(5) Nope of these
203. Computer programs are written in a highlevel programming language; however, the human-readable: version of a
program is called_
(1) cache (2) Instruction set
(3) source code (4) word size (5) None of these
204. In word processing, an efficient way to move the 3rd paragraph to place it after the 5th paragraph is_ i
(1) copy and paste “ %
(2) copy, cut and paste " |
(3) cut, copy and paste -
(4) cut and paste A}
(5) None of these r‘ .
205. Which of the following is not a funetion of the control unit ?

(1) Read Instructions - gl
(2) Execute Instructions < A J v
(3) Interpret Instructions ( i\ F

(5) None of these
206. Software for organizing storage and retrieval of information is(n)##-
(1) operating system
(2) database
(3) database prggram
(4) data warehouse
(5) None of these

(4) Direct Operations L &
-
)

207. A set of step-by-step procedures for accomplishing a task is known as a(ilf —
(halgorithm (2) hardware program A /
(3) Software bug R Y
(4) firmware program ‘.
(5) None of these ‘ J

208. Which ofthe following is not true about RAM * f

(1) RAM is a temporary storage area ’

(2) RAM is the same as hard disk storadg&"

(3)RAM isvolatile "

(4) Information stored in RAMLis aoﬁe when you turn the Computer off

(5) None of these ( 1 #%
209. The main directory of a disk is €alled ‘1e directory.
(Droot (2)sub \

(3) folder (4) netwo&( None of these
210. The physical arrangéfegfit of elements on a page is referred to as a document's —
(Dfeatures (2) format
(3) pagination (4) grid (5Y#None of these
211. =iISUM(BL1 : B8) is an exampleof a —
(1) funetion (2)formula. (3) cell address (4) value (5) None of these
212. Which of the following storage media provides sequential access onry ?
(1) Floppydisk
(2) Maghnetic disk
(3) Magnetic tape
(4) Optical disk
(5) Nore ef these
213. Compilers’and translators are one form of —
(1) ROM (2RAM
(3) hard disk (4) Software (5) None of these
214. Data representation is based on the_number system, which uses two numbers to represent all data.
(binary (2)biometric (3) bicentennial (4) byte (5) None of these
215. The most common input devices include —
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(1) Monitor and keyboard
(2) Monitor and mouse
(3) Mouse and keyboard
(4) Printer and mouse
(5) None of these

216. WWW means —

(1) World Wide Wonder
(2) World Wide Wizard
(3) World Wide Web
(4) Wide World Web ( 1)
(5) None of these /
217. Processing is used when a large mail order Company accumulates Orders and processes them togéthef in one ldfges
set. r . r
(1) Baten (2) Online
(3) Real-time (4) Group (5) None of these - /
218. What is the difference between a CD-ROM and a CD-RW ? A} y ¥
(1) They are the same just two different terms used by dif-ferent manufacturers o | '_ f
(2) A CD-ROM can be written to and a CD-RW cannot ( "_
(3) A CD-RW can be written to. but a CD-ROM can only be read f r?F k { .
(4) A CD-ROM holds more Information than a CD-RW F) A

(5) None of these 1
219. Holding the mouse button down while moving an object or teXt is knawn as
(1) moving (2) dragging (3) dropping (4) highlightirig (5) N@ne of thése
220. A__is a collection of data that is stored electronicalry as a sefies of rec@rds jh a table.
(1) spreadsheet

(2) presentation [
(3) database /

(4) web page
(5) None of these 1 (
221. The primarily take(s) care of the behind the sq]eiietalls and manage(s) the hardware.
(1) opecating System
(2) application Software . (3) peripheral de I&s
(4) hard disk
(5) None of these
222. A _is a professionally de5|gned-n.empt§t doeument that can be adapted to the user's needs
(file (2)guide (3)template (4)gliser guide file (5) None of these
223. A group of 8 bits is known as a + (1)byte.. (2)kilobyte
(3) binary digit (4)megabit (5) None these
224. The hardware deV|ce monly referred to as the "brain" of the Computer is the—
(D.RAMchip (2)da
(3)CRU 3
E{ seepndary storage
) None of these
225. What is the intersection of column and a row on a worksheet called?
(DCalumny(2)Value (3) Address (4) Cell (5) None of these
226._are of-ten dellvered to a RC through an emclil attachment and are often designed to do harm. (1) Viruses 12) Spam

3) Portls
4E |I messages
(5) NoRe of these

227. What is
(I)Afoldq_(Z) A directory (3) A mailbox (4) The hard disk (5) None of these
228. A desktop Camputer is also known as a —
. (1) PalmPilot (2) PC (3) laptop (4) mainframe (5) None of these
229. When a file contains Instructions that can be carried out by the Computer, it is often called a(n) __file.
(Idata (2) Information
(3) executable (4) application (5) None of these

storage area for email messages called ?

www.examrace.com



230. Documents converted to__can be published to the Web.
(1) a .doc file
(2) http
(3) machine language
(4) HTML
(5) None of these
231. If a user needs Information instantly available to the CPU, it should be stored —
(1) onaCD i
(2) in secondary storage “ %
(3) in the CPU " |

(4) in RAM - / \
(5) None of these A ) ./

232. To what temporary area cari you store text and other data, and later paste them to another Iocatior ‘
(1) The clipboard
(2) ROM (3) CD-ROM - < /
(4) The hard disk <M v
(5) None of these g .\ F

233. In a spreadsheet, a_is a number you will use in a calculation. L & ( { :
- ;
(3) field (4)value ' (5) None of these . A

(Dlabel (2) cell
234. Click_check box of transition in a slide group of an animatiog'tab if you want to move a slide automatieally after
stipulated tirne.

(1) Transition timer

(2) Automatically alter

(3) Transition after

(4) Automatic tirner [

(5) None of these /

235. All of the followings are included in removable mﬂ'a&xcept— f -

(1) CD-ROMs (2) Diskette

(3) DVDs > |
(4) Hard Disk Drive ‘ |
(5) None of these j
236. If you do not want to select any Option &ftér opeing a menu then click menu title again or press key to close the

menu. "
(DShift (2) Tab (3) Escape (4)sFl (%)"None of these
237. It is easier to change the name cffil'e dsing_process.
(DTransforming i , ‘_,
(2) Christening (3) Rentning \
(4) Retagging (5) None of these
238, view, shows how the ontents on printed page will appear with margin, header and footer.

(1) Draft 3
E{FUII Screen Reading "'\\\
) Outiine (4) Page Layaolt

(5) None of these
239. We can enter and edit the fext efficiently using —

(1) Spreadsheet (2) Typewriter

(3) Word Processing Prggram

(4) Desktop Publishing Program

(5) NoRe of these
240 . may belincluded in other, folder while making hierarchical strructure folder.

(M) Minifolder (2) Ttered folder (3) Sub-folder (4)Object (5) None of these
241. The béck'gron;id of any Word document.

(1) is always of white colour

(2) is the colour present under the Option menu

(3) is always the same for the entire document

(4) can have any colour you choose
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(5) None of these

242. Only_program(s) become(s) active even though we can open many programs at a time.

(1) four (2) three (3) two (4) one (5) None of these

243. When the margins on both sides are straight and equal, then there is_in document.

(Dfulljustification
(2) fill alignment
(3) left justification
(4) right justification
(5) None of these

1

x

244. All of the followings are included in typical Computer programming language which are in use curre n tly Exccpt |,

(1)C++ (2) Java
(3) Visual Basic NET
(4) Machine language
(5) None of these
245. What happens when you press Ctrl + V Key ?
(1) A Capital V letter is typed into your document at the Cursor point
(2) The selected item is pasted from the clipboard ,
(3) The selected item is pasted to the clipboard L

(4) The selected drawing objects are distributed vertically on the page™

(5) None of these
246. Which of the following places the common data elements in or ro
(1) Character, flle record, fleld, database
(2) Character. record. field, file. database
(3) Character, field. record. file. database
(4) Bit, byte, character, record, field, file, database
(5) None of these

247. When you make graph and picture in document, then your Computer hol

’iwmn

(1) Restore file (2) Backup drive (3) Clipboard (: ory
(5) None of these WT

248. How will words appear on the page ? We callia?
(D Textformatting ‘
(2) Character formatting
(3) Point size (4) Type face (5) None offthese

249. helps in capturing row data and eq‘tezng into Computer System.
(1) CPU <

(2) Integrated Circuit | » |
(3) Input device i ( ‘_.-
(4) Motherboard }
(5) None of these
250. Title bar, ribbon, Stattisfar, views and document workspace are factors of __program of

Words: 2
(&( Windows (2) Browsef\é)\‘xplorer (4) Website (5) None of these

smallést to largest:?
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1.(1) |2.(5) [3.(3) |42

5() |6.(3) |7.(5 |8.(5

9.(2) |10.(3) | 11(4) |12.(2)
13.(3) | 14.(1) | 15.(4) | 16.(5)
17.(4) | 18.(1)' | 19.(3) | 20.(2)
21.(5) | 22.(5) | 23.(1) | 24.(3)
25.(5) | 26.(5) | 27.(1) | 28.(2)
29.(4) | 30.(1) | 3145) | 32.(2)
33.(3) | 34.(5) | 35.(4) | 36.(5)
37.(1) | 38.(3) | 39.(2) | 40.(2)
41.(4) | 42.(1) | 43.(2) | 44.(3)
45.(1) | 46.(3) | 47.(5) | 48.(5)
49.(4) | 50.(2) |51.(2) | 52.(1)
53.(3) | 54.(3) | 55.(2) | 56.(1)*
57.(3) | 58.(2) | 59.(1) | 60.(4)
61.(3) | 62.(5) | 63.(5) | 64.(4)
65.(4) | 66.(3)" | 67.(2) | 68.(3)

<1
.
L 1 ‘-"

ANSWERS

69.(4) | 70.(4) | 71.(3)| 72.(5)| 73.(5)
74.(1) | 75.2)| 76.(4)| 77.(2)| 78.(1)
79.3) | 80.3)| 81.(2)| 82.(2)| 83.1)
84.(5) | 85.(4)| 86.4)| 87.(1)| 88.(3)| 4
89.2) | 90.3)| 91.(3)| 92.(3)| 93.(1) b
9.(4) | 95.(2)| 96.(5)| 97.2)| 98.(4) W ,
99.(2) | 100.(3) | 101.(4) | 102.(4) | 20343) / . -'
104.(3) | 105.(5) | 106.(5) | 107.(4) | @08.(5) | =~ r
109.(2) | 110,(3) | 111.(3) | 112.(3) | M113.(5) |
114.(1) | 115.(2) | 116.(3) | 117.(2) | 118 (1)
119.(3) | 120.(4) | 121.(4)4 122%@Q) | 123.(3)
124.(2) | 125.(2) |126.(4) [f12714) 128.%
129.(4) | 13043) [131.(2) ["132.(6) | 133.(2)
134.(2) ﬁ(s) 136.(4) | 137.(3) | 138.(2)
139.(2) F140.2) | 141.(2) | 142:(1) | 143.(3)
144. (3)f| 143.(8) | 146.(1) | 147.(5) | 148.(1)
149.(3) | 150. 1.(1) | 152.(5) | 153.(1)
154.(4) | 155.(3) |f56.(4) | 157.(5) | 158.(2)
159. (4) | 160.(3)¥ 161.(5)4 162.(1) | 163.(2)
164. (1) | 165.(3) +2) | 167.(1) | 168.(4)
‘Fﬁa(s) 170. (4] 171.(2) | 172.(2) | 173.(1).
174.(5) | 175.3)] 176.(3) | 177.(4) | 178.(2)
179.(5) | 180.(2) | 181.(4) | 182.(2) | 183.(3)
184.(4) | 185.(4) | 186.(5) | 187.(2) | 188.(2)
189.(5) | 190.(1) | 191.(3) | 192.(5) | 193.(1)
194.(3) | 195.(2) | 196.(2) | 197.(1) | 198.(1)
'199.(4) | 200.(4) | 201.(4) | 202.(1) | 203.(3)
204.(4) | 205.(4) | 206.(4) | 207.(1) | 208.(2)
209.(1) | 210.(2) | 211.(2) | 212.(3) | 213.(4)
214.(1) | 215.(3) | 216.(3) | 217.(1) | 218.(3)
219.(2) | 220.(3) | 221.(1) | 222.(3) | 223.(1)
224.(3) | 225.(4) | 226.(1) | 227.(3) | 228.(2)
229.(3) | 230.(4) | 231.(2) | 232.(1) | 233.(4)
234.(2) | 235.(4) | 236.(3) | 237.(3) | 238.(4)
239.(4) | 240.(3) | 241.(2) | 242.(2) | 243.(2)
244.(4) | 245.(2) | 246.(3) | 247.(4) | 248.(1)
249.(3) | 250.(1)

www.examrace.com



=] EXPLANATIONS E=
L()J)MATIN DEAR
% PR A 2 St el
9 364 §5.32
Therefore,
M E - N-D,
b BAL
9 5 4 8
225)D R E A M 1 N G

B F 8 & .0 M. H L

‘Similarly, -

T RE.A T IS E
+1 -1

B F. 5.4 . D T. H&S
53] 1 a[6]9o 7

3'(3]14579

4.(2)C>E,A>B>D
Now,A>B>D>C>E
. 5.(2)

i

30m

20m

L
= 30m

6. (3) Meaningful Wc;rds\=> TOUR,
ROUT >

7. (5) 48@12R10P8W4;=?
=?=48+12x10-8+4
=?=4x10-8+4
=?=40-8+4=36]

" 8.5

5 14 7 2112 6. 5 4
E N G.U L,F*E D

9. (2) Second Highest Number
= 7[3]9
10. (3)

green [ZFass] everywhere—3 dik sok
cow eats - —>»nok la@

The code for ‘cow’ is ‘nok’ or ‘ta’.

11. (4) [Nj:m§;1Con§:)narltl Numbert
Such combinations are :
[%R1],| KP2 |.[ WF5 |

12. (2) | Symhbol | Number | Consonant |
There is only one such combina-

13. (3) [Number | Vowel [ Rumtger]

Such ;(')mbinations are

14. (1) According to question, the new
sequence would be :

D3MR16F9EKPI2BITUQ4AWF 587
11th from left
1kt
18. pK——> p—=2
U__W'LL.)Q.i_)*

1__1)8_1'2_)7

> ©

R— 1—25 %
16. (5) 8th to the right of 20th from

the right means 12th from the right |

end, i.e.,, U.
(17-22) :
(17-22):
(i) All cards are boxes — Univer-
. sal Affirmative (A-type).
(i) Some trees are forests — Par-
ticular Affirmative (I-type).
(iii) No box is slate — Universal
Negative (E-type).
(iv) ‘Some boxes are not slates —
Particular Negative (O-type).
17. (4) All the three Premises are Par-
ticular Affirmative (I-type). No Con-
clusion follows from the two Par-
ticular Premises.

18. (1) All cards are boxes.

No box is slate.
A + E = E-type of Conclusion

“No card is slate.” !
Conclusion 1 is Converse of it.

No box is slate.

Some slates are tiles.

CE+1I=0-

19.

20.

21.

e of Conclusion ™
1he o Dpaid TINNQ

“Some 'llle_s_é_r no},lb,cugesti
RIS IR VO H s BT LETR

(3) Some papess arearrows.

AT 0 oo/ 7))
;Allarrows are sdcky: rag
I + A = I-type of Conclusion
“Some papers are sticks.”
Conclusions 1 and Il form Comple-
mentary Pair. Therefore, either I
or II follows.

(2) Some tiles are hangles.

All bangles are nails.

I'+ A = I-type of Conclusion
“Some tiles are nails.”
Conclusion II is Converse of it.

(5) Some days are nights.

/

All nights are stars.

1+A= I-type of Conclusion
“Some days are stars.”
Conclusion II is Converse ol it.

All nlg‘htsa/msl;lrs.

All stars are clouds.

A+ A= A-type of Conclusion
“All nights are clouds.”

Some days are stars.

/

All stars are clouds.

1 + A = I-type of Conclusion
“Some days are clouds.”

Conclusion I is Converse of it.

22.

(5) All bells are hammers.

/

All hammers are dogs.

A + A = A-type of Conclusion
“All bells are dogs”.
Conclusion II is Converse of it.

All haw}ngs.
_All dogs are packets.

A + A= A-type of Conclusion
“All hammers are packets”.
Conclusion I is Converse of it.

A
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(23-28) : Sitting arrangement
¢ Ro "L

23. (1) R is sitting to the immediate
left of V.

24. (3) W is sitting between P and Q.
286. (5) R is second to the right of S.
286. (5) S is second to the right of W.
27. (1) S is to the immediate left of T.

28. (2) W is to the immediate right of
Q. :
(20-34) :

=<

==

% =32
* =<

$=>

20.49) H%R=H>R
R#K=Rx<K
KSB=K>B

Therefore, H> R<K>B

Coaclusions

I. B* R= B <R: NotTrue

II. K$§ H= K> H : Not True

(1) N%F=N>F
F#H=F<H
HxU=H<U

Therefore, N> F<H< U

Conclusions

I. USF=U>F:True

II. H% N = 'H > N : Not True

(5) KS§M=K>R

. ROW=R=W
WHT=SWET

Therefore, K> R=W<T

Conclusions

I. T R=T32R:True

I. KSW=K>W: True

@ K*XT=K<T
TSM=T>M
M§J=>M=J

Therefore, K< T>M=J

Conclusions

- L J* K= J <K: Not True
II. J* T=J <T: True

31.

-

33.3) D#R=Dx<R
ROM=R=M
MSB—=M>B

" Therefore, D<R=M>B
Conclusions _
I. M§ D= M=D:Not True
II. M$ D=>M>D :Not True
Either I or II is true.

34.5)B8V=>B=V
VIeM=V>M
MSJ=M>J

Therefore, B=VaM>Jd"
Conclusions
. JXV=J<V:True

II. M#B= Mg B : True
85.4) U P A M Y E
(I T
B2 710 e g
3.55J P E R T B
S T S A
@ 2 3 4 8 §
87.() 1 M P B E 2z
P P T
© 9 2 & 3 ©
Condition (ii) is applicable.
88.33J E T W B H
Ok i N S
@ 3 8 7 $ &
8.2 K H A P Y 1
O T P TRt |
© & 1'"2 5%
Condition (i) is applicable.
40.22 B P T R K ‘A
T SRR R P
128 4% B

Condition (i) is applicable.

41. (4) From Problem Figure (1) to (2)
the two left designs and the two
right designs interchange positions
while the middle design is replaced
with a new design. From Problem
(2) to (3) the left most design moves
to the right most position. These
two steps are continued in the
subsequent figures alternately.

42. (1) The following changes occur in
the subsequent figures :

(1) to (2)
® &
‘QI>.<I0
5o

(2) to (3)

(3) to (4) (4) to (5)
® .\ &
®e_ ©® Q0ll¢e 0 o

D |

Therefore, from Problem Figure (5)
to. Answer Figure similar changes
would occur as from Problem Figure
(1) to (2).

43. (2) From Problem Figure (1) to (2)
all the designs move one step in
anticlockwise direction. Similar
changes would occur from Prob-
lem Figure (3) to (4) and from Prob-
lem Figure (5) to Answer Figure.

44. (3) In the subsequent figures re-
spectively one and two angle(s) is/
are deleted alternately and the
deleted angle(s) reappear(s) in the
next step.

485. (1) In each subsequent figure one

" circle is added and the pre-exist-

ing circles move in clockwise di-

rection.

The circles appear in the order :

®o 00

48. (3) The following changes occur in
the subsequent figures :

(1) to (2) (2) to (3)

These two steps are repeated al-
ternately in the subsequent figures.
47. (5) From Problem Figure (1) to (2}
all the four designs meve one step
in clockwise direction after being
inverted. Similar changes occur
from Problem Figure (3) to (4) and
from Problem Figure (5) to Answer
" Figure. ;
. (5) The following changes occur
from Problem Figure (1) to (2).

Similar changes occur from Prob-
lem Figure (3) to (4) and from Preb-
lem Figure (5) to'Answer Figure.
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49.

(4) In the subsequent figures the
star moves one step in
anticlockwise direction, the
traiangle moves one step in clock-
wise direction while the circle
moves respectively half, one and
half, two and half, three and
half...... steps in anticlockwise
direction. The fourth design is re-

- placed with a new design in each

51.

' 54.

. (2)

step and moves from left to right
stepwise and from right to left in
one step.

. (2) From Problem Figure (1) to (2)

half line segment is deleted, from
Problem Figure (3) to (4) one and
half line segments are deleted and
hence two and half line segments
would be deleted from Problem
Figure (5) to Answer Figure.

@2 ?=B+4-2-1)+

Ala 44 7+36
i) 2= 23
49+ (9-4)

126 +36 162 _

49+5 54

(3) 1’4:;$+15+11><? T

=12+ 15+ 11 x? =49
=11 x?=49-27 =22

o
il

232
(3) ?=56.4 x22.5 - &5
- 1269-29 = 1240
125 x 625
25

~pl3-?

53 x 5%
52

$53+42 513-7
=13-?=5

=7=13-5=8

& 513—?

. (1) ? = 62626 - 6262 + 626 - 62

+ 6 = 56934

57.(3) (0.6) =
- = (0.6)° =

58.(2) ?=

60.(4) ?=

61. (3)

63.(5) ? =

(0.6)* x (0.6)*2 x (0.6)°

(0_6]4* 443 — [0'6)11

= ?'=11 :

 38x205 , 62x445
100 100

= 112.10 + 275.90 = 388

B9.{1) ? =84.42 - 43.82 + 16.57 -

32.49 = 24.68

37x248 27 x310
100 100

=91.76 - 83.7 = 8.06

494 832

R L

38 4

= 13 x ? =208

62, (5) 27.831-31. 425 + 18. 749 i

=12
= 15.1556 -2 = 12
= ?=15.155-12 = 3.155 .

18.5x 320 % 7.4 x 450
100 100
= 59.20 + 33.30 = 92.50

64. (4 ?=13.013-22.104 + 62.903

-9.048
= 44.764
.11 .40 22
: O M S5
6B g
11 _40 9
—_— —-—?:4
=37 %
=p——?—‘-4
_45_, _45-28 17
et 7 7
- 8
7 .
5 18><350_'(_12>c600
66.(3) ?= —55 100
=63 +72=135
T PX432x5
Bilassa ket SR Ty
67.‘[2] e
540 x 100
= e 0h
= 7= isax5
18x'34,
88. (3) (7% = 17 =36
" =?=J36=6

69.

70.

71.

. (5) 4359 - 960 =

4 9 E-}.é}(g 7
W =37 2%
15 2. 9
2
3

pl

T
+_
4

4 17

1L 5
—_—= =8
<4 2 . 2
.94 + 36.78 - 71.63

a
27
A
@ ?=14
10909 )
(3) ? = 4611 - 324 - 440 + 256
= 4103

55
L
4

2156
14

+?

= 3399 = 154 + ? .

73.

. 74,

75.

76.

= ? = 3399 - 154 = 3245

5 ?= %x%xgx3822 =270

27 40 25 18
e 7 5
27-. 40 7. 18

T x—x
8 9

(1) ?

25 5
SR ol
"5 5 5

(2) 21 x24 -64 +49-? = 361
= 504 -64 + 49 - ? = 361
= 489 - ? = 361
= ? =489 - 361 = 128
(4) Let the cost of a tube light and
a bulb be Rs. 5x and Rs. 2x re- °
spectively.
44 xDbx+3x2x=260

260

= ——=10"
= 26x = 260::.:( 26

. Cost of 1 tube light and 6 bulbs
=5x+ 6 x2x
=17x=17 x 10 = Rs. 170

. (2) Let the numbers respectﬁrely

be x and 88 - x.

_—:—3— ——(88 X)
10 100

6 A
= Xx= g{BS—x)A

= 5x = 528 - 6x

= 11x = 528

' 528

= ——=48
=X 1

. Smaller number =88-48
= 40
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T8, (1) Vijay's present age =72-42

bl s 8

.‘Ri T:,
79. (3) A P[“'ﬁ)

usaEaly « R 2
= 7500 + 927‘: 7500 (1 +——]

100
8427_[“_13_)2
= 7500 100
[ R\T 2809 [53}2
=5 1+—— S —| —
100/ ~ 2500 \50
[1+i —2_3_
= 100) 50
R _53_,_3
100 50 50
3

R "_JBX 100 = 6% per annum

80. (3) Let the total amount be Rs. x.
. Savings’ per cent
=[100 - (23 + 33 + 19 + 16]|%
= 9% )
. 9% of x = 504

504;“)0:5600 e

. Expenditure on food and insur-
ance policy together
= 56% of 5600

[Rssmeod)
= 100

= Rs. 3136
81. (2) 992 = 9801
1002 = 10000
. 9801 < 9889 < 10000
. Required least number
= 9889 - 9801 = 88.
* 82. (2) The word POWERS consists
of 6 distinct letters.
. Number of arrangements = 6!
=6x5x4x3x2x1=720
83. (1) Let the number be x.

= x=

5 62
L= X—— X x = 2790
9 100
2790 x 9x 100
=X = 5%62 = 8100
84. (5) Let the radius of larger circle
be rem.

v 2n (r—-14) = 132

132%x7
= - = ——=21
relde Qe
. r=21+ 14 = 35cm
88. (4) Let the maximum marks be x.

. 54% of x = 300 + 24

x x 54
100

=324

324 x 100
= ——— =600
= X 54

.. Required minimum marks

_ 40x600=240
100

86. (4) The pattern is :
23 +10=33
33+ 13 =46
46 + 16 = 62
62 + 19 = 81
81 + 22 =103

103 + 25 = | 128

87. (1) The pattern is :
7+7=14
14 + 11 =25
25+ 13 =38
38+ 17 =55
55+19=74

i.e. Series is obtained by adding
consecutive prime numbers.
88. (3) The pattern is :

74 + 23 =

9+64=73

73 + 32 = 105

105 + 16 = 121
121 + 8 = 129

129 + 4 =
133 +2 =135

89. (2) Total amount

= Rs. (221 x 43 + 83) = Rs. 9586

90. (3) Decimal equivalent of each

fraction :

3 35 ; 13 o565
11 23

15 o052 ; 3-043
29 7

2 o031

13

Clearl e2pl8 8 18
carly, 13 <729 “11 23

T |
91.(3) A:P[1+i] ‘
y 100 ‘

= 6300 (l * -i—JZ
b 100

EEVE = Rs. 6814
25 25
92.(3) 2 =108 x 16
= 2% % 33 % 93
= ?=2x3x2=12
93. (1) Let the numper be x.

= 6300 x

w2 -92 =544
= 2 =544 + 81 = 625
= x= /625 =

94. (4) Let the angles be 3x. 5x and |
7x. ‘

“3x+ 5x+ 7x=180

= 15x = 180
180
= —=12
PR

", Smallest angle = 3 x 12 = 36° |
Largest angle = 7 x 12 = 84°
. Reauired difference

34
=2x36-
=72-42 = 30°

95. (2) Let the length and breadth of
rectangle be 4xand 3xcm respec-
tively.

2 (4x+ 39 =112
= ld4x =112
T12

=—=8
14

. Area of rectangle = 4x x 3x
12x% = (12 x 8 x 8) cm?

=768 cm’
98, (5) 7= 61 6'3 32 |
- 5) ]3 19 7
61 63 7
= —X—X—=3
13 19 32
97.(2) ?= 3928x36+410

~ 5100 + 410 = 5510 |
. Required answer = 5500

. 2 men + 6 boys

" 3
=2 men + EXG men

{
a
98. (4) 3 men = 8 boys i
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= D
90. (2) Let the S.P. be Rs. x.

TGP Rsz'x
A =Rs. 3

wiN
w|x

. Gain=x- 7X =Rs.
e

. Gain per cent = —2—3— x 100 = 50
=x
3

100.(3) Let the present ages of
Dheeraj and Raman be 2xand 3x
years respectively.

Four years ago,

2x-4 _5 : r
3x-4 8
= 16x - 32 = 15x - 20
=yx=32-20=12
.. Dheeraj's age after 7 years
=2x+ 7 .
=2 x 12 + 7 = 31 years

101. (4) Taka

102. (4) Children upto the age of 14
years

103.(3) G-20

104. (3) Mid Day Meal Scheme

105. (5) Common Wealth Games

108. (5) Rs. 2,000 crore

107. (4) 25%

108. (5) Subprime Crisis

109. (2) Ms. Mamta Banerjee _

110. (3) Rs. 1,60,000

111.(3) 6% d

112, (3) Contour Farming

113. (5) Himachal Pradesh

114.(1) Vishesh Krishi and Gram
Udyog Yojana

115. (2) Commodity Transaction Tax

116. (3) 24% ‘

117.(2) Uttar Pradesh

118. (1) Higher Education

119. (3) Industry Sector

120. (4) T.S. Krishnamurthy

121. (4) Service sector

122, (2) Coal

123.(3) ISRO

124. {2) Banana

125. (2) Andhra Pradesh

128. (4) The:Gokden Gate

127.(4) 2020 128. (1) USA
129.(49) USA * 130.(3) 134
131. (2) Electronic Voting Machine
132. (5) ASEAN 183 (2) China
134. (2) Genetically Modified

138. (5) None of these

1386. (4) GBC:

137. (3) Denmark :
138. (2) Subrato Cup

139. (2) Bangladesh’

140. (2) Andhra Pradesh

141.(2) 15% i

142. (1) Middle East & North Africa
143. (3) Shri Pranab Mukherjee

144. (3) Panchayati Raj Systen’l

148. (3) Tamil

146. (1) Taro Aso -

147. (5) New Zealand Grand Prix 2009
148. (1) 2002

149. (3) Rs. 480 lakhs

150. (3) Social Service

00:

' | 1B1.(1) The correct spelling ls : cir-

cumstances

152.(2) All correct

153.(1) The appropriate word should
be : entered. -

154.(4) The approptiate WO.I‘d should
be : determined.

155.(2) The appropriate word should
be : accomplish which means :
achieve: to succeed jn doing or
completing something

1586. (4) He wanted to show Rajendra
the error of his ways.

157. (5) He was an honest labourer

188.(2) He was a cheat and he ex-
ploited them. ~

150. (4) Mani was. clever and a good
actor

160. (3) He was very upset and rushed
home at once. v

161.(5) She wa’s partner in all
Rajendra’s schemes Y

'162. {1) None ’
163. (2} Only (C) -

164. (1) He did not value honesty

168. (3) He wanted to boast about his

prosperity to his relatives

1

166.(2) ’,l"l;l,e mea,gmg of I7h€ word,'pleas-
antly” (Adverb) a: fz‘é sed dn the pas-
sage is < delightiully; joytully

' Look at the sentence :
Iwas pl@ﬁﬁfmﬂy surprised By my
exam results.
Herice, the words pleasantly and
delightfully are syrionymous.

167.(1) The meaning of the word ‘wail’
(Verh) as used in the passage is :
to make a long loud high cry be-
cause you aré sad or in pam

moan.
Look at the sentence :
The little girl was wailing miser-
ably. : .
Hence, the words wailing and
crying are synonymous.

168.(4) The words right and straight
are synonymous.

.169.(3) The words planned and can-

celled are antonymous.

'170.(4) The word celebrate (Verb)
means : to show that a day.or an'
event'is important by doing some-
thing special on it.

Look at the sentence :

People celebrate New year joy
fully. - _ :

The word mourn (Verb) means :
(grieve for ; to' feel and show sad-
ness because somebody has

died).
Look at the sentence :
He is still mourning his wife's
death.
Hence, the words celcbrate and
mourn are antonymous,
171.(2) B . ‘172.(2)C-
173. (DA 174. (5) E
175.(3) D 3

176.(3) Here; ‘different rates of inter-
est’ should be used. The word ‘dif-
ferent’ is an Adjective.

177.(4) ‘We take some’ should be used.

178.(1) ‘what impact” should be used.

179.(5) Notorrection requird.

180.(2) ‘not have good' should be used.
Here, negative sense implies

181.(4) Group of words ‘with afl his
team members’ should be replaced
by ‘among all his team members'.

d Prepositlonh ‘with’ has wrongly
been used here.

182.(2) Here, preposition 'about' is su-
perﬂuous
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R
{ﬁa, ). THe possessive case of ‘com-
*. pany' should be ‘its’ Hence of its
shares’ should be used.
184.(4) There is o definite thihg.
Henle! skl a wroriﬁ stratey
should be weed. ni-
188.(4) Active Voice should be used.
Y I'Iﬂ@ﬂbe;m\e had fiided or she was
facing........ shbuld be the correct
usage.
186.(5) Noerror -
187.(2) Replace ‘implemented only in
these' by ‘implemented only in

this’. Here. singular sense is evi-’

dent. -
188.(2) The form of infinitive is : to +V,

Hence, ‘to reaeh an agreement”

should be used. -
189.(5) No error '

190.(1) The word ‘Regulations’ is plu-
ral. Hence. ‘There are a]l sorts'
should be used.

191.(3) try -~ 192. (5) persuaded
198.(1) set , 194. (3) preparef.i
195. (2) loan 196. (2) through
197.(1) people 198. (1) made ~
199. (4) was 200. (4) way

201. (4) Applications .

202. (1) network x

203. (3) source code

204. (4) cut and paste

205. (4) Direct operations

2086. (4) data warehouse | -

207. (1) algorithm' | ;=

208. (2) RAM is the sa.tﬂb as hard disk
_storage

209. (1) root

211. (2) formula

212, (3) Magnetic tape

213. (4) software .

214. (1) binary

215. (3) Mouse and keyboard

2186. (3) World Wide Web

210. (2] format

217, (1) Batch

218. (3) A CD-RW can be written to,
but a CD-ROM can only be read
from

219. (2) dragging 220./(3) database

221.(1) operdting system

222, (3) templa.te 223. (1) byte

224.(3) cpU’ 225. (4) Cell

226. (1) Viruses  227. (3) A mailbox

228. (2} PC

229. (3) executable
230. (4) HTML

| 231. (2) in secondary storage

232. (1) The clipboard

233. (4) value

234. (2) Automatically after §

235. (4) Hard Disk Drive , .,

238. (3) Escape

237. (3) Renaming

238. (4) Page Layout

239. (4) Desktop Publishing Program
240. (3) Sub-folder

241. (2) is the colour present under the
optionmenu - .

242. (2) three b Bl

243. (1) full justification

244. (4) Machine language
245.(2) The selected item is pasted
from the clipboard

2486. (3) Character, field, record, ﬂle
database B

247.(4) Memory

248. (1) Text formatting
249. (3) Input device
2850. (1) Windows

www.examrace.com





